55 —5 Inequalities Involving Absolute Value

# 5-Minute Check Over Lesson 54

£} Solve the compound inequality
3x £ -6 or 2x -6 2 4. Graph the
solution set.
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# 5-Minute Check Over Lesson 54

£} Solve the compound inequality
3x -6 or 2x -6 2 4. Graph the
solution set.
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# 5-Minute Check Over Lesson 54

E) Solve the compound inequality
-5sx-1=52.

A. {x|xs-4orx23}; «++-
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# 5-Minute Check Over Lesson 54

E) Solve the compound inequality
-5sx-1=52.

A. {x|xs-4orx2z3} «+s—"t—"+-
) ol = =Bd 0 1

m) B, {x|-4SxS3}; il
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C. {x|x23}; = :
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5 — 5 Inequalities Involving Absolute Value

m Solve Absolute Value Inequalities (<)

A. Solve |s - 3| £12. Then graph the solution set.
Write |s—3|<12ass-3<12and s-32-12.

Case 1 Case 2
§—-3<12 Original s—-32-12

iInequality

s—-3+3=<12+3 Add3to s—-3+32-12+3
each side.

s<15 Simplify. s=2-9
Answer: The solution setis {s| -9 < s < 15}.
| O —————— -

-15-10-5 0 5 10 15
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m Solve Absolute Value Inequalities (<)

B. Solve |x + 6| <-8.

Since |x + 6| cannot be negative, |x + 6| cannot be less
than —8. So, the solution is the empty set @.

Answer: @
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W Check Your Progress

A. Solve |p + 4| < 6. Then graph the solution set.

A. {p|p<2}

e -
-14-12-10-8 -6 -4 =2 0 2 4 6

{p|p>-10}

D e e e B I
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m & Check Your Progress

A. Solve |p + 4| < 6. Then graph the solution set.

A. {plp<2}

e —)—— >
-14-12-10-8 -6 -4 -2 0 2 4 6

B. {p|p>-10}

e —————————-

-14-12-10-8 -6 -4 -2 0 2 4 &
(©) p1-10<p<2)
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(EIITTET U chedk Your Progress

B. Solve |p - 5| <-2.

A {p|ps-2)

B. {plp<-2}

C. {plp<3)

D. O
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m &4 Check Your Progress
- =

B. Solve |p - 5| <-2.

A {plps-2)

B. {plp<-2}




5=5 Inequalities Involving Absolute Value

m Solve Absolute Value Inequalities (>)

A. Solve |3y - 3| > 9. Then graph the solution set.

Case 1 3y — 3 is positive. Case 2 3y - 3 is negative.

3y-3>9 Original inequality 3y-3<-9

3y-3+3>9+3 Add 3toeachside. 3y-3+3<-9+3

Simplify.

Divide each
side by 3.

Simplify.
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m Solve Absolute Value Inequalities (>)

Answer: The solution setis {y | y<—-2 or y > 4}.

~p——
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. z:z:lm:!!, Solve Absolute Value Inequalities (>)

B. Solve [2x + 7| 2 -11.

Answer: Since |2x + 7| is always greater than or equal
to 0, the solution set is {x | x is a real number.}.

o p{eje|wj———-—
5-4-3-2-1 01 23 45
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W Check Your Progress

A. Solve |2m - 2| > 6. Then graph the solution set.
A. {m| m>-2orm<4}.

B s e e e
-4-3-2-10 12 3 4 5 6

{m|m>-2orm>4}.

ol ———-
-4-3-2-10 12 3 45 6

{m|-2<m<4).

B —
-4-3-2-1012 3 4 5 6

{m| m<-2orm?>4}.
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2CU 220 4 Check Your Progress

A. Solve |2m - 2| > 6. Then graph the solution set.
A. {im|m>-2orm<4}.

B
-4-3-2-10 1 2 3 4 5 6

B. {m|m>-2orm>4)}.

S e ————————
-4-3-2-10 12 3 4 5686

C. {m|-2<m<4).

o P ——— i
-4-3-2-10 12 3 4568

.{m|m<—2orm>4}
—_———
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Examples 1-3Solve each inequality. Then graph the solution set. 1-6. See Ch. 5 Answer Appendix.
1. la=5|<3 2 lu+3l<7 31t+4]ls -2

4 |c+2|>-2 5. |n+5|=3 6 |p—2|=8

Example 2 7. FINANCIAL LITERACY Jerome bought stock in his favorite fast-food restaurant chain at $70.85

However, it has fluctuated up to $0.75 in a day. Find the range of prices for which the stock
could trade in a day. {m| 70.10 = m < 71.60)

Lesson 5-5
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Practice and Problem Solving

Examples 1-3Solve each inequality. Then graph the solution set.

Example 2

8. |[x+8|<16
M. |3h-3|<12
4. lr+2]>6

17. |[4p + 2|2 10

20. SCUBA DIVING The pressure of a scuba tank should be within 500 pounds per
square inch (psi) of 2500 psi. Write the range of optimum pressures. {p| 2000 < p < 3000}

.|r+1|s2

12 m+4| <=2
15. [k—4|>3
18. |50 + 3| > -9

Extra Practice Is on page RS.

8-19. See Ch. 5 Answer Appendix.

10. |2c—-1]|=7
13. |w + 5] < -8
16. |2h =3]|=9

19. | -2c - 3| > -4

8 (x| -24<x<8)
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19. {¢| cls a real number.}
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Practice and Problem Solving Extra Practics Is on page RS.

Solve each inequality. Then graph the solution set. 8-19. See Ch. 5 Answer Appendix.

B x+8|<16 @ r+1s2 10. |2c =17
M |3k -3|<12 12 Im+4l< -2 13 lw+ 5| < -8
W r+2>6 15.|k—4|>.’4 6. |2h—=3|=9
17. [4p+2|= 10 18. |50 + 3| > 18, |—2c - 3| > —4

20. SCUBADIUING The pressure of a scuba tank should be within 500 pou
square inch (psi) of 2500 psi. \‘\ l the range of optimum pressures. IF|EDDD<FS 3000}






